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| SECT[ON—A

Answer ten questions, selectmg any two from each
Unit : 2x10=20

G R ATy UNIT"""I

1. What is the difference between an object and
an instance?

2. What is the difference between Array class
and Array List class in Java?
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3. Write a Java statement' to add and remove
elements from Array List in Java.

UNIT—II

4. What is JavaScript?
5. What are the types of function in J avaScri'Pt?

6. How to write a Hello World example of
JavaScript? - ;- mandnd

UNIT=III

7. What is the roie of the J DBC Drwer Manager
class?

8. Write a note on JDBC Record Set.

9., What is the major difference
java.util.Date and java.sql.Date

UNIT—IV

10. What is the difference between include
directive and include action in JSP?

11. What are Scriplets, Expression . and
Declaration in JSP?

12. What are JSP implicit objects? -‘
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UNIT—V
13. What are the advantages of JavaBeans?
14. What is property editor in JavaBeans?

15. rite dcrwn the purpose of getPropertyName( )
d setPropertyName()

%Q SECTION—B

ﬁve questlons, selecting one from each
6x5=30

UNIT—I

16. Explain the use of objects in Java. What are
the different ways to create object of a class?

17. What is Array List class in Java? Explain
with example how to access and modify
elements from Array List. 2+4=6

UNIT=—II
18. What are the advantages of JavaScript?
- Write the JavaScript program to find the

Fibonacci series. 2+4=6

19. What is an event? Explain some JavaScript
events with suitable example. 2+4=6
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UNIT=III

20. Explain: JDBC' architecture. with suitable ./ .
: diagram

ety

21. How to process SQL statement wnth JDBC?

EXPIam W1th an example | i) o
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22. Explain the life cycle of @P

23. Explam exceptlon 6 SP
Q%NI’P{Q
24. Expla.m e@s ‘class:vin’ ‘Java. Give
suita e to unplement methods in
JavaB . ke

3+3=6
' 25. What are the steps to create a simpie bean in

Java?
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